FRONT VIEW

SIDE VIEW

H .

17 in SEAT HEIGHT

e qrqn o]

95/8in TYP. H

) —
qr

/i
NSNS ASN
RN RORK

S

FEATURES:
1) MATERIAL:
ALUMINUM FRAMES AND BENCH PLANK
2) FINISH:
FRAMES - PLAIN
BENCH PLANKS - CLEAR ANODIZED
3) ASSEMBLED WEIGHT: 72 LBS.

A

This item is the
exclusive property of
KWIK GOAL LTD.
Reproduction or
duplication without
the express written

l/ ® 140 Pacific Drive
(BKWIKGOAL
G Pa. 18951

Approved By:

Part #:

Date:

9B26

Drawn By: CSpeck

Date: 10/9/2007

Desc:

consent of Sheet: 1 of 4
. - 21' Bench With Out Back
Finish Info. KWIK GOAL LTD. is |Revision #:
strictly forbidden. | Cad File: 9B26.idw

(©) 2007 Kwik Goal Ltd.




OVERHEAD VIEW

1

N

Y
w o L)

20 \x/\\\\ > :

>
3

PSS

/04

N

)

1O\
\ 2 ﬂ,vgobvz \//\\\
20 enone ]

<an
7

|

APPROX.

MATERIAL REQUIRED, BUT NOT SUPPLIED

0.3 cubic yard - CONCRETE

0.2 cubic yard - CLEAN STONE (1/4" - 3/4")
ABOVE AMOUNTS ARE PER UNIT INSTALLATION

230 1/4in
77 1/2'in ‘ 75 1/4in ‘ 77 1/21in @12'in
CONCRETE FOOTING
- A= 4/  (8PLACES)
W ¢ W W
| i T R
121/2'in += R L N
I | i
144 in
215in  —=
MINIMUM
DISTANCE MINIMUM
TO FIELD OF PLAY
HALFWAY |LINE
¢ TOUCH LINE 'y |
u
ANCHOR NOTES:
NOT SUPPLIED 1) ANCHORS RECOMENDED, BUT NOT SUPPLIED.
CONCRETE 2) DIMENSIONS ARE FOR PLANNING PURPOSES. INSTALLATION
FIELD MUST BE IN ACCORDANCE WITH INSTALLATION INSTRUCTIONS.
SURFACE 7 ’>Y</

This item is the
exclusive property of
KWIK GOAL LTD.

l/ ® 140 Pacific Drive
(BKWIKGOAL
G Pa. 18951

12 MINIMUM Reproduction or AD';';:’VM By: Part #: 9B26
FOOTING DETAIL duplication without 1, "5 “cepeck
(8 PLACE) the express written  pate: 101972007 Desc:
consent of Sheet: 2 of 4 21' Bench With Out Back
Finish Info. KWIK GOAL LTD. is |Revision #:
strictly forbidden. | cad File: 9B26.idw

(©) 2007 Kwik Goal Ltd.

REV 3/1/06



BENCH PLANK (1)
CLEAR ANODIZED

PLAIN FINISH

BENCH FRAME BRACE (1)

BENCH FRAMES (4)

PLAIN FINISH

9.625 in

MATERIAL DETAILS

—=~——0.125 in wall

BENCH FRAME
MATERIAL - ALUMINUM

1.750 in
=] [——"
BENCH PLANK
MATERIAL - ALUMINUM
=2 in—=

f
2in

f

e L

—=0.075 in wall

T—~1 in

1in
N
0.188 in% F

BENCH FRAME BRACE
MATERIAL - ALUMINUM

Finish Info.

This item is the

r. ® 140 Pacific Drive
H ’ Quakertown,
exclusive property of = KW’KGOAL Pa. 18951

KWIK GOAL LTD.

. Approved By: .
Reproduction or PProved By Part #:
: . . Date: 9826
duplication without .
. Drawn By: CSpeck
the express written Date: 10/9/2007 oo

consent of Sheet: 3 of 4
KWIK GOAL LTD. is |Revision #

21' Bench With Out Back

strictly forbidden. | Cad File: 9B26.idw

(©) 2007 Kwik Goal Ltd.

REV 3/1/06



Parts List
Part # Qty Description
uz763 1 BENCH SEAT (21
@ uz478 4 BENCH FRAME WITHOUT BACK
@ uz762 1 FRAME SUPPORT ANGLE
Uz475 8 BENCH HOLD DOWN
@ TZ172 8 5/16-18 x 3 Carriage Bolt
TZ4 12 5/16 Flat Washer
= Lo TZ5 12 5/16-18 Lock Nut
T TZ191 4 5/16-18 x 2 3/4 Carriage Bolt
Ld
uz478
FRAME BRACE
ASSEMBLY
(4 LOCATIONS)
This item is the r. e 140 Pacific Drive
exctusive proverty of |\ ICWIIKGOAL i
KWIK GOAL LTD. Approved By: o h
Reproduction or e : arw 9B26
duplication without ——
. Drawn By: CSpeck
the expresstw;ltten Date: 10/9/2007 Desc:
consent o Sheet: 4 of 4 -
. - 21' Bench With Out Back
Finish Info. KWIK GOAL LTD. is |Revision #:
strictly forbidden. | cad File: 9B26.idw

(©) 2007 Kwik Goal Ltd. REVII/0






